
1. The paper consists of three sections :-
Science (15 Questions), Mathematics
(10 Questions) and Mental abil ity
(15 Questions).

2. All questions are compulsory and carry four
marks each. One mark is deducted for wrong
answer.

SCIENCE

MOTION TALENT SEARCH EXAMINATION

DURATION: 60 MINUTES TOTAL QUESTIONS: 40   MAXIMUM MARKS : 160

SAMPLE PAPER

CLASS : 7th

Comprehension/Passage (Q.1 & 2):
Biotic components include all the livings organisms
in a habitat. Abiotic components include all the non-
living things in a habitat. These include air, rocks,
water, sunlight and heat. All livings things depend
on the abiotic components for all their needs. The
abiotic components are very useful for the survival
of the biotic components in a habitat. For example,
sprouting is the first step where a new plant grows
from a seed. The sprouting such as air, water, light
and heat. The surroundings where organisms live is
called a habitat. The organisms depend for their food,
water, air, shelter and other needs on their habitat.
Habitat means a dwelling place (a home). Several
kinds of plants and animals may share the same
habitat. The plants and animals that live on land are
said to live in terrestrial habitats. Some examples of
terrestrial habitats are forests, grasslands, deserts,
coastal and mountain regions. On the other hand,
the habitats of plants and animals that live in water
are called aquatic habitats.
1. Terrestrial habitat includes:

(A) Pond (B) Well
(C) Desert (D) Lake

2. The dwelling place of in organism is known as:
(A) Niche (B) Biome
(C) Biosphere (D) Habitat

3. There is only one correct answer hence mark
one choice only.

4. Darken your choice in OMR Sheet with Blue/
Black Ball Point Pen.

5. Return the OMR Sheet to the invigilator at
the end of the exam.

vuqPNsn@x|ka'k  (Q.1 & 2):
vkokl esa lHkh ltho] tSfod ?kVd gksrs gSA vkokl esa lHkh futhZo
oLrq,¡] vtSfod ?kVd gksrh gSA blesa 'kkfey gS gok] pV~Vkus] ikuh] lw;Z
dk izdk'k rFkk m"ekA lHkh ltho viuh vko';drkvksa ds fy, futhZo
?kVdksa ij fuHkZj gksrs gSA fuokl LFkku ij fuftZo ?kVd  lHkh lthoksa
ds thfor jgus ds fy, vfrmi;ksxh gksrk gSA mnkgj.k ds fy,] vadqj.k
igyk in gksrk gS tgk¡ cht ls u;k ikS/kk curk gksrk gSA vadqj.k tSls
fd gok] ikuh] izdk'k vkSj m"EkkA vklikl dh txg tgk¡ ltho jgrs
gS] vkokl dgykrk gSA ltho vius Hkkstu] ikuh] vkJ; rFkk vU;
vko';drkvksa ds fy, vkokl ij fuHkZj gksrs gSA vkokl dk eryc
fuokl LFkku ¼,d ?kj½A fofHkUu izdkj ds ikni rFkk tUrq ,d gh vkokl
dk lk>k djrs gSA Hkwfe ij jgus okys ikni vkSj tkuojksa dks LFkyh;
vkokl esa jgus okyk dgk tkrk gSA LFkyh; vkokl ds dqN mnkgj.k
gS tSls taxy] ?kkl ds eSnku] jsfxLrku] rVorhZ rFkk iorhZ; {ks=A
nwljh rjQ ty esa jgus okys ikS/ks rFkk tUrqvksa dk vkokl tyh;
vkokl dgykrk gSA
1. LFkyh; okl dk mnkgj.k gS&

(A) rkykc (B) dq¡vk
(C) jsxhLrku (D) >hy

2. fdlh tho ds fuokl dk LFkku dgykrk gS&
(A) uhp (B) ck;kse
(C) ck;ksLQs;j (D) gschVsV
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3. In which plant does the stem perform the

function of a leaf ?
(A) Bogouainvillea (B) Onion
(C) Cacti (D) Potato

4. Which of the following statements is worng ?
(A) Quinine an antimalarial drug is obtained
from the plant cinchona.
(B) Pulses are rich sources of starch and
minerals.
(C) Sunflower is a good source of vegetable oil.
(D) Green vegetables are good sources of
vitamins and minerals.

5. Which of these plants store food in their
roots?
(A) Balsam (B) onion
(C) Carrot (D) Zinnia

6. The poles of the magnet always exist in:
(A) pairs (B) single
(C) both (A) and (B) (D) cant say

7. Electrical wires are covered with
(A) insulating material
(B) conducting material
(C) semi - insulator material
(D) All of these

8. How many terminals are there in a battery?
(A) 3 (B) 2
(C) 1 (D) 4

9. Speed of light is -
(A) 3 × 109 ms-1 (B) 3 × 108 ms-1

(C) 3 × 107 ms-1 (D) 3 × 1010 ms-1

10. If there are 3 bar magnets, the total number
of poles will be :
(A) 2 (B) 6
(C) 3 (D) 4

11. Catching of common cold is a:
(A) Periodic change (B) Non periodic
(C) Both (A) & (B) (D) None of these

12. The ratio of elements hydrogen and oxygen
present in water is:
(A) 2 : 1 (B) 1 : 2
(C) 1 : 1 (D) 2 : 2

13. Which of the following is not a matter?
(A) Air (B) Milk
(C) Sound (D) Ball

14. The difference between sieving and filtration
is of:
(A) size of particles (B) phase of particles
(C) density (D) None of these

15. An animal that does not yield wool is:
(A) Cat (B) Camel
(C) Sheep (D) Rabbit

3. fuEu esa ls fdl ikni esa ruk] i.kZ dk dk;Z djrk gS\

(A) cksxsuosfy;k (B) I;kt
(C) ukxQuh (D) vkyw

4. fuEu esa ls dkSulk okD; xyr gS\

(A) D;wusu] fladksuk ls izkIr gksus okyk eysfj;k jks/kd inkFkZ
gSA

(B) nkysa] LVkpZ vkSj [kfut inkFkksZ dk mPp L=ksr gSA

(C) lwjteq[kh ouLifr rsy dk mPp L=ksr gSA

(D) gjh lfCt;k¡] foVkfeu vkSj [kfut inkFkksZ dk L=ksr gksrs
gSA

5. fuEu esa ls dkSulk ikni tM+ks esa [kk| lkexzh j[krk gS\
(A) ckyle (B) I;kt
(C) xktj (D) ft+fu;k

6. pqEcd ds /kzqo ges'kk fo|eku gksrs gS &

(A) ;qXe esa (B) ,dy esa

(C) nksuksa (A) vkSj (B) (D) dg ugha ldrs

7. fo|qr rkj <ds gksrs gS &

(A) fo|qrjks/kh inkFkZ ls

(B) pkydh; inkFkZ ls

(C) v)Zpkydh; inkFkZ ls

(D) mijksDr lHkh

8. ,d csVªh esa fdrus VfeZuy gksrs gS ?
(A) 3 (B) 2
(C) 1 (D) 4

9. izdk'k dh pky gS &
(A) 3 × 109 ms-1 (B) 3 × 108 ms-1

(C) 3 × 107 ms-1 (D) 3 × 1010 ms-1

10. ;fn ;gk¡ 3 NM+ pqEcd gS rc dqy /kzoksa dh la[;k gksxh &
(A) 2 (B) 6
(C) 3 (D) 4

11. lkekU; 'khr dh tdM+u gksrh gS &

(A) vkorhZ; ifjorZu (B) vuvkorhZ;
(C) (A) rFkk (B) nksuksa (D) buesa ls dksbZ ugh

12. ty es a mifLFkr gkbMªkstu rFkk vkWDlhtu rRoksa dk vuqikr gS &
(A) 2 : 1 (B) 1 : 2
(C) 1 : 1 (D) 2 : 2

13. fuEu esa ls dkSulk ,d nzO; ugha gS \

(A) ok;q (B) nw/k
(C) /ofu (D) ckWy

14. Nk¡Vuk rFkk Nkuuk ds e/; vUrj gksxk &

(A) d.kksa ds vkdkj dk (B) d.kksa dh voLFkk dk

(C) ?kuRo dk (D) buesa ls dksbZ ugha

15. tUrq tks Åu ugha nsrk gS &

(A) fcYyh (B) Å¡V

(C) HksM+ (D) [kjxks'k
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MATHEMATICS

16. Solve for x : 2 (x + 7) = 5 (7 – x)

(A) 3 (B) 6
(C) 9 (D) 2

17. Through how many degree does the hour
hand of a clock turn in 5 minutes ?

(A) 
1 º
2

(B) 
13 º
2

(C) 5° (D) 
12 º
2

18. The sum of 2 + (– 2) + 2 + (– 2) + -----

(if the number of terms are 50) is :

(A) 2 (B) – 2
(C) 100 (D) 0

19. The largest number using each of digits
5, 7, 8, 9 is :

(A) 9875 (B) 5879
(C) 8759 (D) 7589

20. The weight of a basket ball is about
600000 mg. It is :

(A) less than 600 g
(B) greater than 600 g

(C) equal to 600 g
(D) none of these

21. Which of the following figures is made of line
segments only?

(A) (B) 

(C) (D) 

22. Which of the following statements is not true
for three whole numbers a, b and c ?

(A) a + (b + c) = (a + b) + c
(B) a × (b + c) = (a × b) + (a × c)

(C) a  (b  c) = (a  b)  c
(D) (a × b) × c = a × (b × c)

16. x : 2 (x + 7) = 5 (7 – x) ds fy, gy gksxk &

(A) 3 (B) 6
(C) 9 (D) 2

17. 5 feuV esa ?kM+h dh ?k.Vs dh lqbZ fdrus fdrus fMxzh rd

?kwerh gS \

(A) 
1 º
2

(B) 
13 º
2

(C) 5° (D) 
12 º
2

18. 2 + (– 2) + 2 + (– 2) + ----- dk ;ksx

(;fn inks dh la[;k 50 gS) gksxk &

(A) 2 (B) – 2
(C) 100 (D) 0

19. vadks 5, 7, 8, 9 ls izR;sd dk iz;ksx dj lcls cM+h la[;k

gksxh &

(A) 9875 (B) 5879
(C) 8759 (D) 7589

20. ,d ckWLdsV ckWy dk Hkkj  600000 fe- xzk- gksA ;g gksxh &

(A) 600 xzk- ls de

(B) 600 xzk- ls vf/kd

(C) 600 xzk- ds cjkcj gS

(D) buesa ls dksbZ ugha

21. fuEu esa ls dkSulh vkd̀fr flQZ js[kk[k.Mks ls feydj  cuh gS &

(A) (B) 

(C) (D) 

22. rhu iw.kZ la[;kvksa a, b rFkk c ds fy, fuEu esa ls dkSulk

dFku lR; ugha gS &

(A) a + (b + c) = (a + b) + c
(B) a × (b + c) = (a × b) + (a × c)

(C) a  (b  c) = (a  b)  c
(D) (a × b) × c = a × (b × c)
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MENTAL ABILITY

26. 2, 2, 4, 4, 6, 8, 8, ?
(A) 10 (B) 12
(C) 14 (D) 16

27. DOU, EPV, FQW, GRX, HTY, ITZ
(A) FQW (B) GRX
(C) HTY (D) EPV

28.
25 49
121 ?

(A) 64 (B) 81
(C) 100 (D) 125

29. Choose the one word which can be formed
from the letters of the given word.
RATIONALISATION
(A) NATIONALISTIC (B) NATIONALIST
(C) SITUATION (D) RELISATION

30. If DOWN is coded as FQYP then how will WITH
be coded?
(A) KYJV (B) IJYK
(C) YKVJ (D) JKVY

31. Sita started from his house, walked 5km North
then 12km West. How far away from her
house was she then?
(A) 12 kms (B) 13 kms
(C) 14 kms (D) 15 kms

32. What is the value of 1260  15  7 = ?
(A) 12 (B) 58
(C) 122 (D) 588

33. "Treatment" is related to "Doctor" in the same
way as "Training" is related to:
(A) Coach (B) Game
(C) Playground (D) Player

23. If
x
y  =

3
2

, then 
x y
x – y


 is equal to :

(A) 
4
3 (B) 

1
2

(C) 
5
4

(D) 5

24. The denominator of fraction
9

17
 is ?

(A) 9 (B) 17
(C) 3 (D) None of these

25. The prime factorisation of 54 is :
(A) 2 × 2 × 3 × 3 (B) 2 × 2 × 2 × 3
(C) 2 × 3 × 3 × 3 (D) 2 × 27

23. ;fn
x
y  =

3
2

 gS]  rc 
x y
x – y


 ds cjkcj gS &

(A)
4
3 (B) 

1
2

(C)
5
4

(D) 5

24. fHkUu
9

17
 dk gj gksxk &

(A) 9 (B) 17
(C) 3 (D) buesa ls dksbZ ugha

25. 54 ds vHkkT; xq.ku[k.M gksxs &

(A) 2 × 2 × 3 × 3 (B) 2 × 2 × 2 × 3
(C) 2 × 3 × 3 × 3 (D) 2 × 27

26. 2, 2, 4, 4, 6, 8, 8, ?
(A) 10 (B) 12
(C) 14 (D) 16

27. DOU, EPV, FQW, GRX, HTY, ITZ
(A) FQW (B) GRX
(C) HTY (D) EPV

28.
25 49
121 ?

(A) 64 (B) 81
(C) 100 (D) 125

29. ,d 'kCn dk p;u dhft, tks fn, x, 'kCn ds o.kksZ ls
feydj cuk gks &
RATIONALISATION
(A) NATIONALISTIC (B) NATIONALIST
(C) SITUATION (D) RELISATION

30. ;fn DOWN dk ladsr FQYP gS] rc WITH dk ladsr

D;k gksxk &
(A) KYJV (B) IJYK
(C) YKVJ (D) JKVY

31. lhrk vius ?kj ls pyuk izkjEHk djrh gS rFkk 5 fdeh- mÙkj
dh vkSj pyrh gS] rc mlds ckn 12km  if'pe dh vkSj

pyrh gSA og rc vius ?kj ls fdrus fdeh- nwj FkhA
(A) 12 kms (B) 13 kms
(C) 14 kms (D) 15 kms

32. 1260  15  7 = ? dk eku D;k gksxk &
(A) 12 (B) 58
(C) 122 (D) 588

33. "Treatment" dk laca/k "Doctor" ls gS] blh izdkj ls

"Training" dk laca/k fdlls gksxk &

(A) dksp (B) [ksy
(C) [ksy dk eSnku (D) f[kykM+h

Motion Education Pvt. Ltd. | 394-Rajeev Gandhi Nagar | : 1800-212-1799 | url : www.motion.ac.in |



Fastest Growing Institute Of Kota
34. How many triangles are there in the following

figure?

(A) 6 (B) 7
(C) 8 (D) 9

Direction (Q.35 to 36): Five persons are sitting in
a row. One of the two persons at the extreme
ends is intelligent and other one is fair. A fat
person is sitting to the right of a weak person.
A tall person is to the left of the fair person
and the weak person is sitting between the
intelligent and the fat person.

35. Tall person is at which place counting from
right?
(A) First (B) Second
(C) Third (D) Fourth

36. Person to the left of weak person possesses
which of the following characteristics?
(A) Intelligent (B) Fat
(C) Fair (D) Tall

Direction (Q.37 to 38): In each of the following
questions, choose the correct mirror image
from alternatives A, B, C and D of the
Word/figure (X).

37.
(X)

(A) (B) (C) (D)

38.

(X)

OO 

 

(A) (B) (C) (D)

O O O O OO O O

34. fuEu vkdf̀r esa ;gk¡ fdrus f=Hkqt fn, x, gS &

(A) 6 (B) 7
(C) 8 (D) 9

funsZ'k (Q.35 to 36): ik¡p O;fDr ,d iafDr esa cSBs gq, gS] nks esa

ls ,d O;fDr tks iafDr dh vfUre fdukjs ij cSBk gS] og

cqf)eku gS rFkk vU; ,d e/;e gSA ,d eksVk ,d yEck

O;fDr e/;e O;fDr ds ck,¡ vkSj cSBs gS rFkk detksj O;fDr

cqf)eku rFkk eksVs O;fDr ds chp esa cSBk gS &

35. nk,¡ ls fxuus ij yEcs O;fDr dk LFkku dkSulk gksxk &

(A) igyk (B) nwljk

(C) rhljk (D) pkSFkk

36. detksj O;fDr ds ikl ck,¡ vkSj cSBS O;fDr dh fuEu eas ls

dkSulh fo'ks"krk gksxh &

(A) cqf)eku (B) eksVk

(C) xkSjk (D) yEck

funsZ'k (Q.37 to 38): fuEufyf[kr esa nh x;h vkdf̀r  x ds

fodYiks A, B, C rFkk D ds lgh niZ.k izfrfcEc dk p;u

dhft, A

37.
(X)

(A) (B) (C) (D)

38.

(X)

OO 

 

(A) (B) (C) (D)

O O O O OO O O
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39. 4

1

(i)

2
2

6
3

(ii)

Which will be number at the bottom if 5 is
at top
(A) 1 (B) 2
(C) 3 (D) 6

40. A sheet has been folded in the manner as
shown in X, Y and Z respectively and
punched. You have to choose from the
alternatives how it will look when unfolded

X Y Z

(B) (C) (D)(A)

ROUGH WORK

39. 4

1

(i)

2
2

6
3

(ii)

;fn 5 Åij dh vkSj gS rks chp esa dkSulh vk,xh

(A) 1 (B) 2
(C) 3 (D) 6

40. ,d píj dks bl izdkj eksM+k tk, tSlk fd Øe'k%

vkd`fr X, Y rFkk Z esa fn[kk;k x;k gS rFkk muesa
Nsn fd;k tkrk gS rFkk muesa Nsn fd;k tkrk gS]

vkidks fodYiks esa ls p;u djuk gS fd tc bls [kksyk

tk;sxk rks ;g dSlk fn[ksxkA

X Y Z

(B) (C) (D)(A)
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